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Risk Bearing Capital (RBC) at 1.1.2006

• available / free / economic capital

• = Assets – Liabilities

• based on economic valuation

balance sheet 1.1.06

Assets
Liabilities

rbc1.1.06
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Change in Available Capital (rbc0 → RBC1)
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Target Capital (tc) at 01.01.2006

Target capital is a target quantity. It is the 
answer to the question:

What is the minimal amount of rbc01.01.06 such that

the policy holder does not suffer a loss
with high probability?

RBC31.12.06 > Risk Margin (rm)

⇔
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Target Capital (tc) at 01.01.2006

0 ESα RBC31.12.06

fRBC

VaRα
E[RBC31.12.06]

rm

Target Capital tc is given by an implicit equation:

( ) rmtcrbcRBCES === 06.1.106.1.106.12.31%1α

(Picture shows a situation with ES[..] > rm, 

hence rbc1.1.06>tc.)

available required risk margin
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Target Capital (tc) at 01.01.2006
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Solve (approximately) for target capital tc:
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Result for a Nonlife Insurer
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for a nonlife insurer
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Non Life Standard Model (2005)

Small claims Large Claims, accumulation

Compound Poisson

number of cl:
Poisson

Claims amount: 
Pareto with 

Cutoff

variability of 
incurred loss

2 Moments and 
correlation matrix

1. und 2. 
Moment per 
line of bus., 

Correl.matrix Lognormal

Run Off Risk

74 Risk factors

Covariance

Sensitivities

normal distributed

Risk of New Claims Market Risks

… Aggregation 
of scenarios

Aggregation of Small 
claims risks and run off 
risks by adding moments

Aggregation: 
Convolution

Aggregation: 
Convolution

Ni

Xi

µi, σi
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Scenarios

Terrorism

Historic financial 
scenarios

Financial distressDefault of 
Reinsurer

Increase total of 
claims reserve 

by +10%

Daily allowance

Increasing 
invalidity

Water barrage

Anti selection for 
health insurers

Accident 
scenario:

works outing

PandemicIndustrial 
Explosion
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Risk Margin (rm)
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where s = cost of capital rate = 0.06
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SST Project

We are looking forward to questions:

Philipp Keller Philipp.Keller@bpv.admin.ch
+41 31 324 93 41 
+41 79 817 07 51 (mobile)

Thomas Luder Thomas.Luder@bpv.admin.ch
+41 31 325 01 68

Mark Stober Mark.Stober@bpv.admin.ch
+41 31 323 54 19

http://www.bpv.admin.ch/themen


